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using Microsoft.VisualStudio.TestTools.UnitTesting;
using System;
using TestCommon;

namespace A8.Tests

{

[DeploymentItem("TestData", "A8_TestData")]
[TestClass()]
public class GradedTests

{

[TestMethod (), Timeout (1000)]
public void SolveTest_Q1Evaquating()

{
RunTest (new Q1Evaquating("TD1"));

}

[TestMethod (), Timeout(1000)]
public void SolveTest_Q2Airlines()

{
RunTest (new Q2Airlines("TD2"));

}

[TestMethod (), Timeout(1000)]
public void SolveTest_Q3Stocks()

{
RunTest (new Q3Stocks("TD3"));

3

public static void RunTest(Processor p)

{

TestTools.RunLocalTest("A8", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);
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using System;

using System.Collections.Generic;
using TestCommon;

namespace A8

{
public class QlEvaquating : Processor
{
public QlEvaquating(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long, longl[][], long>)Solve);
public virtual long Solve(long nodeCount, long edgeCount, long[][] edges)
{
// write your code here
throw new NotImplementedException();
}
}
}

YLbJ’ngQ@L@?‘jAMbUaLAS}‘ Y

55_9.26.“:\: Lo L (69,9 O 45639., 93 u‘é‘;ﬁ I maximum-matching 45.\3); 4.&:25 L«Zd\y Oﬁ\ﬁ
S

J‘Jfébouiéq)‘;ijﬁﬁ 6‘.%,4\) slaws %}4;45.\:.5@ C,.é\.:): bm. N 34e 95 ($39)9 Jol L s
S5 ol ir\h&jr‘ Q\J.s)f\g.x:;s@ Clys sue m bsks 51 G s gam b3 0y e iia b
SISl Dosloe e ile L aBlss asls Jbpss (23w 51 j b & sl 23 51 e S s 0L 55
S Sl Iy SiSe s
3L =Y b s (25 i) sae 6055 Lol maximum-matching 5 i sy & (5550 55 < Cwsbad match

Assigning Airline Crews to Flights"



> > < Y O % 1 =< =

Llalsr 31 oS0 L o CanddlS L 5 a2l s Ol st ol S Ze o (51 s ol S 1S 08

@ ged (6399 L g0 (9>
34 12 -1
1101
0100
0000
@ ged (6399 L g (9>
2 2 21
11
10

5L ks match & Gl ouly g S ¢ Sl 3l £ JalS matching <G VL JEs
using System;
using System.Collections.Generic;

using TestCommon;

namespace A8

{
public class Q2Airlines : Processor
{
public Q2Airlines(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long, long[][], long[l>)Solve);
public virtual long[] Solve(long flightCount, long crewCount, long[][] info)
{
// write your code here
throw new NotImplementedException();
}
}
}
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using System;
using System.Collections.Generic;

using TestCommon;

namespace A8

{
public class Q3Stocks : Processor
{
public Q3Stocks(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long, long[][], long>)Solve);
public virtual long Solve(long stockCount, long pointCount, long[][] matrix)
{
// write your code here
throw new NotImplementedException();
}
}
}
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